Residuals vs Fitted Normal Q-Q
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The correct answers are: The influence of point 9 mainly comes from its large
absolute residual value, There are possible outliers and/or influential
observations



Residuals vs Fitted Q-Q Plot
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The correct answers are: Residuals may not be normally distributed, but no need to
worry, There are possible outliers and/or influential observations
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The correct answer is: There are possible outliers and/or influential observations
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The correct answer is: No obvious problems
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The correct answer is: There are possible outliers and/or influential observations
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